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1. (i) B (i) A (iii) D (iv) C v) A
2. (i) x+2y (i) y—z (iii)) xy+4
(iv) 3x — 4y (etesfleb 3x > 4y) gjeveugy 4y — 3x (stevfleb 4y > 3x)

(V10+x+y (vi) pg-5 (vii) 12-mn
(viii) ab - (a + b) (ix) 3cd+6 (x) 43ﬂ
uufimel 1.2
1. (i) B (i) A (i) C (iv) C (v) D
2. (i) x=12 (i) a=7 (i) y==6  (iv) b=-2 (v) x=-5
(vi)yx=7 (vil) x=-5 (viii) n=4 (ix) m=11 x) y=27
3. (i) x=50 (i) 1=14 (ilf) x=4 (iv) a=3 (v) x=-9
(viyt=—=4  (vii) x=-6  (viii) m=3 (ix) x= _Tl (X) x=6
4. (i) x=14 (i) a=30 (i) n=-24 (iv) p=-56 (v) x=-10
(Vi) m=12
5 () x=3 (i) x=-=-15 (i) z=5 (iv) a=-9 (v) x=3
(vi) x=5 (vii) y=67 (viii) x=6 (ix) y=3 (X) m=6
(xi) x=11  (xii) m:% (xiii) x=3 (xiv) x=-3 (xv) t=-1
6. 15 7. 13 8. 108 9. 12 10. 8
11.37 12. 60 13. 35
I|SSwmwid — 2
uufipdl 2.1
1. (i) 20% (if) 93% (iif) 11% (iv) 1% (v) 100%
2. (i) 43:100 (ii) 75:100  (iii) 5:100 (iv) 35:200 (v) 100 :300
3. (i) % (ii) 2% (iii) % (iv) % (v) %
uufndl 2.2
1. (i) 625% (i) 0.03% (i) 25% (iv) 33% (v) 50
2. () 100% (i) 18% (iii) 5.25%  (iv) 66.67%  (v) 45.45%
3. (i) 36% (i) 3% (iil)y 7.1% (iv) 305% (V) 75%
4. 20% 5. 13.89%
6. wmesoreNlger 46%; LomesoTeUTSH6T H4
7. gjeurr gleilwedley gile wdlliklusar Glummmer. 8. Gauilliy 10%; Gl&sue) 90%
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eSlemL_ &6

uufmdl 2.3

1. (i) % (ii) ZIW (i) 0.25 (iv) T30 (v) T7.50
2. (i) % (ii) % (iii) 4% (iv) 4170 (v) %

3. (i) 0.07 (i) 0.64 (il) 3.75 (iv) 0.0003 (v) 0.005
4. (i) 18 (i) X 24 (iii) 3618 (iv) 108 (v) 3.75 &l.&
5. 6250 6. 9 Gum igaer 7.12,800 9y emorgs6iT; 11,200 @ Lpbems &6
8. 38250 9. 3975 L &&TSeTS6T

uuiingl 2.4

1. (i) 50 (i) 15 (iii) @eumun I 35 (V)L &8 allemev (v) 10
2. @eomud =X 24, mliLn =% 21;

@eorun =X 35.45,  mlLb=%3362, mLL=%7.50
3. (i) ¥530 (i) ¥620 (i) ¥1027.50
(iv) ¥ 336.75 (v) 943,50

4. 10% 5 12% 6. 60% 7. 15%

uwilme 2.5

1. (i) ¥ 200 (i) ¥ 500 (iii) %2 gy etor(H)

(iv) % e (v) ¥15,000

2. 32,500; % 7,500 3. T450;% 1,650 4. 32,250

5. ¥2,630 6. ¥216;% 12,216 7. 5% 8. 31,000

9. 2 gymor(ha&erl0. 10% 11. 8 gy eor(hseiT

12. 35,400 13. ¥ 5,000; 10%

I|SSHwmwid — 3

uufim&l 3.1

1. (i) B (i) A (ii) D (iv) D

2. (i) 50 Q&.f2 (if) 66 Glg.f2 (iii) 80.5 Q&F.f?

3. 12 @Qa.f 4. 875 57 5. 19.2 Q&.f
uufimél 3.2

1. (i) B (i) C (ii) A (iv) B (v) D

2. (i) d=70 Q&5 , ¢ = 220 Q.5
(iii) r = 4.9 Q&5 , d = 9.8 Q&5
3. (i) 110 Q.6 (i) 264 Q.5

(i) r=28Q@&.5,c=176 Qa.5

(iii) 374Q&if (V) 462 Qe.f

~
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f 4. (i) 79.2 Q&.f (i) 396 Q&..f (iii) 8.818 (iv) 26.4.8
5. (1) 17.5 Q. (i) 21 Q&.f (iii) 0.78 (iv) 1758
6. 660 L 7.%12328.1.05.5 9. 37

uufimdl 3.3
1. (i) 38.5 @Q&.1f? (if) 86.625 Gl&.f 2
(iii) 18.865 12 (iv) 31.185.f?
2. (i) 4.525 Qg2 (ii) 616 QF.f2
(iii) 55.44 152 (iv) 98.56 1f?
3. 31848 4. 154152 5. 6ulLiD
6. 38.5 12 7. 1936 Q&.f 2 8. r=35,32200
uufipdl 3.4
1. 6361672 2. T1152 3. ¥1590
4. 375 Qa.f 2 5 4052 301672 6. 3256 Glg.Lf 2
uuiime 3.5
1. 659452 2. 536.94 .52 3. ¥24,062.50
4. 35.325 162 5. 34494
I|SSwmuid - 4
uufimal 4.1
1. ()B (i) C (i) C (iv) D (v) D
2. (i) £A=25° 2B =35° «C =120°
3. (i) 60° (i) 70° (iii) 50° (iv) 50°
4. (i) 70° (if) 60° (iii) 40° (iv) 30°
(v) 65°, 65° (vi) 60°, 60°, 60°
5. (i) y=60° x=70° (i) y=80°x=50° (iii) y=70° x=110°
(iv) x=60°y=290° (v) y=90° x=45° (vi) x=60°y=>50°
6. x =50°.
I|SHwmwid — 6
uiimé 6.1
1. (i) A (i) B (i) C (iv) C (v) B
2. 0f5& 50; &ul (n& aymail. = 70.8
3. 61.4 £.4). 4. 40 e0l i 5. 34.9°C
6. 655.0 &.4 7.8 8. 130 Slymd
9. 60 10. 4 11. 28
12. 3 13. 32 &gmo 40 &gmn - 14, wps®) @svsmev  15. 15
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